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3TX: (A) 5504

UH 4.995-618 + 84 =7
(A) 461
(B) 471
(C) 481
(D) 491

3TR: (A) 461

YUY 5.495x38-1885 =7
(A) 16695
(B) 16745
(C) 16885
(D) 16925

3X: (D) 16925

Y 6. 995 T 997 HT UHEHJ &-
(A) 99015

(B) 992015

(C) 99215

(D) 375 A BIS g
3R: (B) 5

UY 7. 24743 - 62 § TG 2-
(A7
(B) 5
Q2
(D) 3



37X (B) 5

Y 8. 105694 + 103 HNTHd o-
(A) 101

(B) 103
(C) 106
(D) 102

37R: (D) 102

U4 9. (205)% =?
(A) 42025
(B) 42045
(C) 42035
(D) 42015

3TN (A) 42025

U4 10. (2704)"2 =2
(A) 1532

(B) 676
(C) 52
(D) 338

3TR: (C) 52

U4 11.1152 = 36 + 9 =?
(A) 749

(B) 7231
(C) 738
(D) 761

3R (D) 761
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TOT HifoTe-

1

Y 3.315 x 315 (3



T
31 %312 =31x32/1 2 —992/2 —992.2
6" 6 6 6 36 36

Y 4. 54 x 56 (G @Y gR1)

°d
04 xb6= D4 +4
»56 +6
=5 (G4 +6)/(4x6)=5x60/y4
=300/,4 =3024

T 5. 46 x 99 (YF TH-YA LUl §R)

T 46 x 99

I U = 46 — 1 = 45
SfeUTUef = 99 — 45 = 54

46 x 99 = 46 — 1/99 — 45 = 4554

Y 6. 362 x 143 (A SHwladd §R)

od:
5 HHE F41
362
x1 4 3
38566
01320
051766
V IV 111 1I 1
3 6 3 2
2 > ¢ ;
1 14 143 4 3 3
=03 =18 =35 =26 =06




T HoTe-

% 7. 111034 + 889 (g Ay grR1)

e
889 |111 (034
111 11 |1
2 |22
444
124 |798
YISl = 889

TNAT HTSTh = 3MTYR — YTSTP = 1000 — 889 = 111
YRTHS = 124; YBA = 798

UY 8. 58764 + 59 (A LAIiP gIR)

Bd

9‘5 8 76‘ 4
1311 |5

1996 |54-54=0 e FowE

HISIh = 59, HXHTP = 5, &aolich = 9

A GUS H UG BT Th 3P = 4 37 R

585 = 11, YITHd = 11, ATH = 3

TR UG = 37— 11 %9 = 37 - 99

Fifes FMTAT HST B 3Tl g |

3{d: YN E TUH 3 11 9 QDR 9 T JaeToHe g1 33 SR fohar Ug (i) MR (iv)
A HA AT B

5. G: 585, U d UYH 3fdh = 9, "IV = 13

6. 0T YIS = 137, GRNYT U = 137 -9x 9 = 56

7. 56 + 5, YNThd fgdid 3fd = 9, AV = 11
8
9.
1

A=

. O HTS = 116, TRNTT HST = 116 -9 x 9 = 35
35 = 5, YT fgdld 3@ = 6, 9HA = 5

0. 71T HISY = 54, TRNTET HIST YT Hf<H VB = 54— 6x9 = 54— 54 = 0
3(d: HITHd = 996, AVHA = 0.



YA-TPTUS qduT gRT 9 1 PIfore-
U¥H 9. 45

©8d:452 =4x5/5x5 =20/25 = 2025

UH 10. 85
8d:85=8x%x9/5x5=72/25=7225

U4 11. 115

®d: 1152 =11x12/5x 5 = 132/25 = 13225
-5 AN g1 9 Jra Pifore-

U¥ 12. 453

B: 453 3i% THg & UM 4, 45, 453, 53 TYUT 3 37 3P THG! & g-g INT Urd WU H fora
W,

4532 =42/4x5x2/4x3x2+5%/5x3x2/3*
=16/,0/,9/, 0/9 =205209

U¥ 13. 4312

T: 4312 & i TG & WId 4, 43, 431, 4312, 312, 12 3R 2 37 3% THG! & g5 AN 9Id
Ul ¥ forgd R
43122 =4%/4x3x2/4x1x2+3%/4x2x2
+3x1%2/3%x2x2+1%/1x2x2/2°

=16/,41, 71,2/, 3/4/4 = 18593344

U¥Y 14. 27



B: TgT 3TYR = 10, SUTYR = 10 x 2,

JUIYR 3 = 2, fage= = +7

TIHd = (SUTYR 3 (TT-AT + 2 x faaam)/[UYR 3 x 3 x ([Aga)? / (agem)?
27 =22 2T +2x T/2x3x T2/

=4x41/294/343 =164 /p94 /5,3 =19683

U¥ 15. 395

B: TgI 3TYR = 100, IUYR 3 = 4, fa=ra= = -05,
TAhd = (SUTUR )2 (TJAT + 2 x faaa) / SUTUR 3 x 3 x (faaa)? / (fagam)?

- 395% =42x (395 +2 % (-05)/4x3

x(-05)% 1 (-05)°
=16 x(385)/12x25/-125
=6160/300/125 =6160/299/25
=6160/298/75 =6160/,98/75 = 61629875

e faft gr1 aviga g1 Fifce-
U9 16. 2116
od:
| 46 = srTHE
4 |2116
+ 416
Hyiifag w5 86 | 516
+ 6| 516
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a7d: 216 1 THA =46

YUY 17. 1522756
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827
729

Hynfya et 2464
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9856
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3d: 1522756 T THA =1234



